IB Math 2: Relationship between Lines

2-Dimentions (} : 4x+By=C,and I, : 4,x+ B,y =C,}
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Find the intersection bysolving J, =1, '

( Three pairs' coordinates are
coincident)
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Show skewed by solving /, =1,
(T'wo pairs' coordinates are
coincident but one pair 1S not
equal)




IB Math 2: Intersection or skewed lines Name:

Classify the following line pairs as intersecting, slew, or parallel.

x=1+3¢
a. lioy=-2-2tand L;x=2-y=z+2
z=054+2t
. . . . x—2 3._y
b. I;r=i+2j43k)+li—j+2)Aand [; 3 =—-2—=z+5

x y+l 4-z
2 6

c. lir=(li+8j+5k)+(2-j+3)rand 1222;
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